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Jud ciary

WEEKLY ASSIGNMENT #4

LAW

1. ‘A’ is a merchant at Kanpur, ‘B’ is a merchant at Calcutta, who has written letters addressed to ‘A’ and has received
letters purporting to have been written by him. ‘C’ is ‘B's clerk whose duty was to examine and file ‘B’s
correspondence. ‘D’ is ‘B’s broker to whom ‘B’ habitually submitted letters purporting to have been written by ‘A’ for
the purpose of advising him thereon. In order to prove the handwriting of ‘A’

(@) The opinion of ‘B’ is relevant
(b) The opinion of ‘C’ is relevant
(c) The opinion of ‘D’ is relevant
(d) The opinion of all the above that is ‘B’, ‘C’ and ‘D’ is relevant

2. An expert may give an account of experiments performed by him for the purpose of forming his opinion under which
section of the Indian Evidence Act?
(a) Section 50
(b) Section 49
(c) Section 51
(d) Section 47

3. ‘Opinion of the other person’.is not relevant to prove which of the following offences of the Indian Penal Code, 18607
(a) Sections 302, 304 and 479
(b) Sections 301, 302 and 498
(c) Sections 302, 304 and 494
(d) Sections 494, 495, 497 and 498

4, According to the Indian Evidence Act, which one among the following is irrelevant?
(a) Evidence of previous good character in criminal cases
(b) Evidence of previous bad character in reply to evidence of previous good character in criminal cases
(c) Evidence of character to prove the imputed conduct in civil cases
(d) Evidence of character to prove the imputed conduct in civil cases except when relevant

5. In criminal proceedings the fact that the person accused is of a good character, is
(a) Not relevant
(b) Relevant
(c) Partially relevant
(d) None of these

6. Which one of the following statements is not correct?
(a) In civil cases character. To prove conduct is irrelevant
(b) In criminal cases previous good character is irrelevant
(c) In civil cases character as affecting damages is relevant
(d) In criminal cases previous bad character is irrelevant unless evidence has been given of good character

7. Which one of the following, provisions of the Evidence Act provides that previous bad character of an accused is not
relevant?
(a) Section 54
(b) Section 52
(c) Section 53
(d) Section 118
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8. The term “judicial notice” under the Indian Evidence Act, 1872, means:
(&) Notice given by the court
(b) Information given to the court
(c) To ask for evidence
(d) To recognize without proof something as existing

9. Which of the following facts need not be proved?
(a) Oral evidence
(b) Documentary evidence
(c) Facts taken judicial notice by Court
(d) Relevant facts

10. Oral evidence, under Section 60 of the Evidence Act, 1872 must in all cases be
() Indirect
(b) Circumstantial
(c) Direct
(d) May be presumed by Court

11. “Good faith” within the meaning of the |.P.C. means
(@) An act done with due care and attention
(b) An actual belief that the act done is not contrary to law
(c) An act in fact done honestly
(d) An act done under bonafide belief

12. The term “Harbour” defined under Indian Penal Code, 1860, does not include-
(a) Supplying a person with shelter
(b) Supplying a person. means of conveyance
(c) Assisting a person to evade apprehension
(d) Prior to the commission of the offence, facilitating the commission thereof

13.  Which of the following punishments cannot be awarded under the Indian Penal Code?
(@) Imprisonment for life
(b) Death sentence
(c) Transportation for life
(d) Forfeiture of property

14. Under which one of the following Sections of the Indian Penal Code, the word ‘offence’ has been defined?
(a) Section 39 (b) Section 40 (c) Section 41 (d) Section 42

15. Under Section 44 of 1.P.C. the term ‘Injury’ means any harm:
(a) lllegally caused to a person in body and mind
(b) lllegally caused to a person in body and property
(c) lllegally caused to a person in body, mind, reputation or property
(d) lllegally caused to a person in body, mind and reputation

16. Theory of retribution
(a) Is atheory in which exemplary punishment shall be given to criminal
(b) Is a theory that a criminal should be punished in proportion to his offence
(c) Is atheory in which the criminal must be reformed
(d) Is atheory in which criminal should be sent to open jalil

17. How many kinds of punishment are provided under I.P.C.?

@1 (b) 2 (c) 3 (d)5
18. If offence is punishable with imprisonment and fine both, then in default of payment of fine, the maximum term, may
be............. the prescribed maximum term
(&) Equal to
(b) Half of

(c) One third of
(d) One fourth of
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19.

20.

21.

22.

23.

24,

25.

26.

27.

28.

If the offence be punishable with fine only, imprisonment for non-payment of fine:
(a) Has to be simple

(b) Has to be rigorous

(c) Can be rigorous or simple

(d) No imprisonment

Which Section of 1.P.C. provide for “imprisonment for non-payment of fine, when offence punishable with fine only”?
(a) Section 63 (b) Section 64 (c) Section 67 (d) None of the above

Under IPC, which one of the following sections makes provision of Solitary Confinement?
(a) Section 71
(b) Section 72
(c) Section 73
(d) Section 74

A is a police officer. A court of law orders him to arrest B. After due enquiry and believing C to be B, A arrests C. In
this case A:

(a) Is guilty of wrongful confinement

(b) Can take the defense of mistake of fact

(c) Can take the defense of authority of law

(d) None of the above is correct

The maxim “Ignorantia facit excusat” relates to
(a) Section 75 of the Indian Penal Code

(b) Section 76 of the Indian Penal Code

(c) Section 77 of the Indian Penal Code

(d) None of the above

Chapter IV of the Indian Penal Code deals with
(@) Abetment

(b) General explanations

(c) Attempt

(d) General exceptions

Which of the following sections of IPC, Act done in pursuant to judgment or order or a Court is not an offence?
(a) Section 78
(b) Section 79
(c) Section 90
(d) Section 91

GENERAL KNOWLEDGE

Which one of the following is not a protozonal disease?
(a) Sleeping sickness

(b) Giardiasis

(c) Amoebiasis

(d) Anthrax

When was the Election commission of India formed?
(a) 1947
(b) 1950
(c) 1991
(d) 1994

Bacteria was discovered by
(a) Antonie van Leeuwenhoek
(b) Belarus

(c) Hugo de Vries

(d) Robert Brown
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29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

Which is the largest continent in the world?
(a) Africa

(b) North America

(c) South America

(d) Asia

Tipu Sultan was also known as Tiger of
(&) Mysore

(b) Delhi

(c) Agra

(d) Gwalior

The mass of proton and mass of is same.
(&) Neutron

(b) Electron

(c) Isoprone

(d) Alpha particle

Constitution Day of India is on
(a) 26th January

(b) 23rd June

(c) 15th August

(d) 26th November

Who is the author of the book ‘A Prime Minister to Remember- Memories of a Military Chief'?
(a) Vishnu Bhagwat

(b) Sureesh Mehta

(c) Sushil Kumar

(d) Vijai Singh Shekhawat

Who is the current MD & CEO of National Stock Exchange of India Limited?
(@) Mr. Abhay Havaldar

(b) Ms. Anuradha Rao

(c) Mr. Dinesh Kanabar

(d) Vikram Limaye

The Buland Darwaja is associated with: -
(a) Shershah

(b) Babur

(c) Akbar

(d) None of these

Under which article, Supreme Court of India has declared the access to internet a fundamental right?
(a) Article 21
(b) Article 14
(c) Article 19
(d) Article 51

The Comptroller and Auditor-General of India submits his report relating to the accounts of the Union to the

(a) Finance Minister

(b) Prime Minister

(c) President

(d) Chief Justice of the Supreme Court

Jahangir, the Mughal emperor ruled India from 1605 until his death in 1627.
(a) fifth

(b) third

(c) second

(d) fourth
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39.

40.

41.

42.

43.

44.

45.

46.

Bharat Ratna and Padma Vibhushan Awards in India were instituted in the year
(a) 1958
(b) 1968
(c) 1964
(d) 1954

ZnS04.7H20 is the chemical formula of which substance?
(&) White Vitriol

(b) Bleaching powder

(c) Blue vitriol

(d) Green Vitriol

ENGLISH

Out of the four alternatives, choose the one which can be substituted for the given Words/sentence.
Someone who wishes to destroy the existing government and laws

(a) Anarchist

(b) Pacifist

(c) Patriot

(d) Hermit

Out of the four alternatives, choose the one which can be substituted for the given words/sentence.
A person who is recovering after an illness or medical treatment

(a) Convalescent

(b) Athlete

(c) Panacea

(d) Altruist

Fill in the blank with the correct article.
Sugar is bad for your teeth.

@ A

(b) An

(c) The

(d) No article required

Out of the given options, choose the most appropriate one to fill in the blank.
The children two songs by Schubert at the school concert

(a) sang

(b) have sing

(c) has sing

(d) has sang

DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options, choose the one
which can be substituted for the given phrasal Verb.

My boss asked me to account for the failure of my team in achieving the annual sales target.

(a) provide sales chart

(b) answer for

(c) maintain balance sheet

(d) prepare a document

Choose the word which is most similar in meaning to the given word.
BEGIN

(&) Commence

(b) Cease

(c) Conclude

(d) Terminate
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47. Choose the word which is opposite in meaning to the given word.
ENMITY
(a) Affection
(b) Hostility
(c) Antagonism
(d) Rivalry

48. Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.
(@) Accommodation
(b) Seperate
(c) Seige
(d) Succesful

49. Out of the given four words only one is spelt correctly. Find the word that is correctly spelt.
(@) Achieve
(b) Accross
(c) Accomodate
(d) Agression

50. Out of the given options, choose the one which is the correct indirect speech of the sentence given below.
Sameer said. “| am very busy now.”
(a) Sameer said that he was very busy then.
(b) Sameer said that he was very busy now.
(c) Sameer said that he was being very busy then.
(d) Sameer says that he is very busy now.
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ANSWER KEY
1. d 2. ¢ 3. ¢ 4, ¢ 5. b 6. b 7. a 8. d 9. ¢ 10. ¢
11. a 12. d 13. ¢ 14. b 15. ¢ 16. b 17. d 18. d 19. a 20. ¢
21. ¢ 22. b 23. b 24. d 25. a 26. d 27. b 28. a 29. d 30. a
31l. a 32. d 33. ¢ 34. d 35. ¢ 36. c 37. ¢ 38. d 39. d 40. a
41. a 42. a 43. d 44. a 45. b 46. a 47. a 48. a 49. a 50. a
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